TS SET

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : PHYSICAL SCIENCES
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

Group 1

Group Number : 1

Group Id : 51714467
Group Maximum Duration : 0

Group Minimum Duration : 180
Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 300

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Paper 1



Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 1 Question Id : 51714410045 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following factors can influence a student's motivation to learn?

517144133
1

Online
Mandatory
42

42

100

Yes

0

1
517144409
Yes

null

% BDS o) @odven Do e (DB (Hgrddo Jakon.

Options :
Genetic makeup
adgNSH08 oo

Socioeconomic status

) FErBE ©bE ©odd)

Weather conditions

sreErn s zﬁﬁ?géam
3. %

Political affiliation
orasfch emoto

Question Number : 2 Question Id : 51714410046 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0



You are a school administrator aiming to improve the institution's learning
environment. What steps could you take to achieve this goal? Select the
most appropriate options.

So3yg a8 @b &U{;&J‘!’Jﬂé}&&'ﬁlﬁ@@ egTsR arErndesin b Dsred e80T

& o5 O Stgen Botrs). HEP HB@D B JobHE Dosndn
Options :
Implement rigid rules without student input.

- E)mﬂgﬁ‘%@ &@?&ﬁﬁéé Bore 8% ohdredd edendcing

Offer a variety of extracurricular activities.

2. S8 éﬂ@g@%é{j sG5| Esireid Haartoie

Ignore feedback from teachers and students.
Gargrgcinen, E}crﬂgfrg@ ) arciein :J%Diﬁjgsé)c}é]éﬂ

3.
Keep the institution's culture unchanged.
Q0Y VoJYS Sy BehHothes

4. ® 2

Question Number : 3 Question Id : 51714410047 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a primary objective of learner-centered teaching?
Do éo@é&,é 555 (s ©Fo b ?

Options :

Transmitting facts and information to students.

_.‘.D-.f el et wll,
| x ' QEPORD, DIPTPTRRY) E)mgﬁa@eéj 2HoHEd

Encouraging rote memorization of concepts.

_ SBDT0e Dl E8 grideorh [P Erothén

Fostering critical thinking and independent learning.

Lot ebSH ol ©rgdEne 2oEroB0HE
3. ¢ E

Limiting student engagement to assessments only

L Dogthe AErAcHE HfoHeth S $88hEo Jakne
4.



Question Number : 4 Question Id : 51714410048 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main objective of MOOCs?
MOOCs [H5° e¥gahsb

Options :

To offer degree programs exclusively online.
&IH sSgEHre =588° Hr@dh eotdohnt

To provide high-cost specialized courses.
_ @&08 Hob [HEgE arEyEHSneth aoin Do

To offer free and open access to a wide range of courses.

DS a755) S EHroR @oltd 6D 53%0o EDyohé
3.¢

To limit access to courses for enrolled students only.
lolstvalse @é%ﬁﬂ& Eéﬁ]iﬁﬁ"ﬂjé}é& Eﬁmvéﬂﬁﬂg@é} Soelgad $BeSo DAsne
4, %

Question Number : 5 Question Id : 51714410049 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does ICT stand for in the context of education?
D5 Bowodod ICT B8 Homofood ?

Options :

L% Interactive Classroom Teaching

) % Integrated Curriculum Training

3 Information and Communication Technology

. International Computer Tools

Question Number : 6 Question Id : 51714410050 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary objective of descriptive research?
SP)E 568855 gy ©Fs0 wEh?

Options :

To manipulate variables and establish cause-and-effect relationships
Serodrein 08y, sedes [Hgrd Donogrl)) Jettenyé

1. ®

To explore and understand a phenomenon in its natural setting
- @l Dire: minbse éﬁjﬁéﬁdﬁﬁ'&c}h @35310?:1, @éoé"m%"é}&}

To predict future outcomes based on historical data

mﬁ@é&é Heeod eI 08d g POaroD SO 5 oV )31
3.

To test hypotheses and theories using statistical analysis

Hero¥ DENe SHEPAG) HB8eyde QTPOFPOD 5680506
4. o =

Question Number : 7 Question Id : 51714410051 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a central tenet of positivist research philosophy?
fﬁaﬂééé ﬁ&%ﬁfﬁaﬂéég@ ol He(S$B?
Options :
Reality is subjective and can be understood differently by different individuals.
TPRRES @EHRSEHIE DY HO DY Bseenrr ©BoseHXD

Research findings are shaped by personal biases and opinions.
58855 Hhared Tt Eﬁéﬁv@ﬂﬂéﬁ, ©f)Erdires® Sn8Jart.

Research should focus on understanding the underlying meanings and
interpretations of participants.
%ﬁ@iﬂ a8 @0S85S oo, BHdeoN ©bo SEHes® 588855

ESJ%}E}&EEJ.



Knowledge can be acquired through objective observation and measurement.
R Ears 58803588, Bl arard) Hosrdosdcns.
W == [=8 Tl
4. ¥

Question Number : 8 Question Id : 51714410052 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the literature review in the research process?
588857 HBcHS® (ot ‘rﬁﬁbé ﬁé@%&i}&b ?

Options :

To collect primary data from participants

. i‘fﬂ@gﬂ B8 (FrEsnE Sarod nEses
I.

To summarize the research findings

. 5685 HDsre Holidrothes
2.

To identify gaps in existing knowledge and establish a theoretical framework
38 %2606’5 wodorerd D803, drpod LrHEayd DogrodosHts
3.¢

To draw conclusions and make recommendations

SwhAodein 3D Hrdbden Voin
4. ®

Question Number : 9 Question Id : 51714410053 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The abstract in a thesis typically:
ErHE 5685 a5 DolsTesin

Options :

Contains detailed descriptions of all research methods
o)) $H8898 étééae) &;"@e‘_ﬁ DDBeanesy BOA Goérron

Is placed at the end of the thesis
RErod aebo D8 Bt



Summarizes the main points of the thesis in a concise manner

3 ¥ RIROE® 3%505) AWgy Aaieen H08d BrHos? Soirko.

Lists all the references used in the thesis
?@}E}SDE@ @5;:’35333@5 6IAPA0DD ©F) JoEboDen erdar 3@0&.
4, ®

Question Number : 10 Question Id : 51714410054 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Plagiarism in research refers to:
58855588 (K0S FE5Em @

Options :

Collecting data from multiple sources to ensure accuracy

L% BTN SSEHDD FrotheH a5 HNhe ol Sarod S

Properly citing and referencing sources used in the research
g HBEEHS® S5@RACDE HHthed Ko @HBHod Hardoe

Using others’ ideas, words, or work without giving proper credit

3 o °08 DB ABHo ondyone ashe o6 Shen, drten, B0 SHBEA0HE

Sharing research findings with the public
5685 HPero (Haed® HoHENe

4, ®

Sub-Section Number : 2
Sub-Section Id : 517144410
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410055 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

H50E: Eodd md@bd Jirordo egrdore Q. 11:08 Q. 15 [H&eH Jdrgraro (grddob.

Some of my critics have said, "Oh, he is a good observer, but he has no power of

reasoning!” | do not think that this can be true, for my ‘Origin of Species’ is one long
argument from the beginning to the end. and it has convinced not a few able men. No one
could have written it without having some power of reasoning. | have a fair share of
invention, and of common sense or judgment, such as every fairly successful lawyer or
doctor must have, but not, | believe, in any higher degree. On the favourable side of the
balance, | think that | am superior to the common run of men in noticing things which easily
escape attention, and in observing them carefully. My industry has been nearly as great as
it could have been in the observation and collection of facts. What is far more important, my

love of natural science has been steady and ardent.

e ﬂé]ﬁ%é)ﬂtﬁs E°08th mer eanl, ‘6.5, @&% od H8ded, 52D @sEdd w8 &8
B I" @b Do DY %0 @8k, JohEod IFH 80D @HRT @ fnujfoﬁ R0
S0t Dol DH0 BB 2.8 ‘K)}é:gj aeee, shBcin mh Blodshod zia’mi@}@é sgBioih 58
2.)0SKDA0B. BPod et ¥8 Bhome IDD [ErahB. (B8 DechHBoSHS Tegahard
o Jthgth SHB0T EOA SokHeld ofmren mofdezdo Sor S oS, B
e o ofgren YHPoorr ﬁa&cﬁaﬂ Bty één&éaagé}.
DD, FH Dedlore Eﬁg%‘{l* éﬁjﬁo?ﬁjéﬁ A Ten IOty K:Dﬂgéorw KoQoSEosd Hbam
7B epfiEre KioSEos® Ferdn Jhe S08 DHERD TED @) grdari. TrEre
5B8ed Hbcin DESBS® o= HBED oorHme ﬁ“ﬁ}n}mﬁ S0oH0 5@3}&). Trer EgKgR
$0ho Db, Hire: Ko T QB0 5N
Sub questions
Question Number : 11 Question Id : 51714410056 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Critics condemned the author for want of
EJo":nefrgéJtD BSowein DHEHH0S® polooedn.

Options :

common sense
aoﬁéeugeéo



reasoning

) @’}E@éo

communication skills

_ g Jadeago

creativity

\ ;’:éjma&véééé

Question Number : 12 Question Id : 51714410057 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The above excerpt is taken from the autobiography of
2 aroroFo )8 ol &85 808

Options :

Charles Darwin
|« T80 &b

Erasmus Darwin
@Uﬂﬁg}% mEﬁgﬁ

Alfred Russel Wallace
@6 8 arda

Charles Lyell.
80 HAhd

Question Number : 13 Question Id : 51714410058 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author feels that successful lawyers and doctors are
DesdHiiosdhd aegoharthen &ban Sthgen @) Bdons grdartd.

Options :




generous
STPEIERRED

observers
H84e%en

industrious
[Eso Saden

decision makers
D8 ®@ond Sjgoﬁao ATt

Question Number : 14 Question Id : 51714410059 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The author’s inclination for compiling facts, reflects his

THared Hoedo Dohos® Ehons g F0iP, oSl 0 (5820800
Options :
Diligence

5458 Sexdy
4

Reasoning
, % BB)Fo

decision making
Nelovle) 8oH3 &%

3. %

motivation

4 % (22560

Question Number : 15 Question Id : 51714410060 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word-"ardent" is
VLY 3 Hrd8 HlepNerslale




Options :

insubstantial

@000
1. # fe=

impatience
BRTPN0

eager

ﬁ@f\j‘!’.}ﬂo
3.9

Sub-Section Number : 3
Sub-Section Id : 517144411
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 51714410061 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

communication helps in remembering details of earlier

conversations and interactions.
éaﬁ)}g&}éﬁﬁ 3008008 Dogrgsen 00 HBHY Sbge Ddoreih

$B80H 8% K0s® HitahnthEod

Options :

retentive
| TG B8

reliable
Eﬁfﬁ]éfﬁﬁ?ﬁ

inquisitive
Beed
=

consistent
%é@_ﬁé



Question Number : 17 Question Id : 51714410062 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

provided by teacher in the classroom helps in building students’

confidence.
S5Ka Kot ﬁé}"q}"édﬁDE‘_}] @ofoDH Sjcjaﬁééﬂ 3]6’%%‘3@:1 2osrohosEos?

2P ONHTHE0H
Options :

assignment
© R0

positive feedback

) @ Feindhe S)lelaty

lecture
ﬁ‘.ﬁavéﬁo

negative feedback
éé&fﬁé@_}é S)lelat]

Question Number : 18 Question Id : 51714410063 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Effective communication across cultural boundaries relies heavily on maintaining
attitude.
(HerdBos s wodByodpd Sogrsis & JPBA BdrhoSton JEyST

eardad Gotnod.

Options :
negative
L% B8

positive
) o aPEre

indifferent

3 % S5



aggressive
nl=SlnY)

Question Number : 19 Question Id : 51714410064 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of clarity and coherence in providing information, is an example of
barrier.
DErToee) ©0805E0e" D)5 BBy grobs BEDFH G0

@%oé‘.& Srrartes

Options :

organizational
éoé;ﬁe‘é

psychological
Sl

emotional
@ﬂﬁ%&ﬁ

semantic

2TePS
L ©B30D0LHTHS

Question Number : 20 Question Id : 51714410065 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The usage of mobile phones for many functions like : to talk , to watch movies, to
send emails is an example of

SREREE0, aldren S0, adhonen DoRNEo Do w3¥ e E%o
S0zdS §ESe HA@To & &orsrdes

Options :

media convergence

v St Boons



out-door media
@erBol Srgkino

2. %

transit media
Barese s30PGi5E00

traditional media
ArolmeeD aeiiEho

Question Number : 21 Question Id : 51714410066 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

10, 14, 22, 38, 70, ___
Options :
% 130

5 v 134

138

3. %

4 x 140

Question Number : 22 Question Id : 51714410067 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

XTV, UQS, RNP, OKM,
Options :

HLJ

1. %

, % JHL

; « HIL



LHI
4. v

Question Number : 23 Question Id : 51714410068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certam code language if the word LOCAL 1s coded as MPDBM. then which word 1s
coded as DBMMES ?

2.5 QO 8 22 LOCAL @3 $¢50 MPDBM 1T §6& ToHh248. & HS0
DBMMFS T §& D230 6?
Options :
. CARROT

CODING
2. 8

3 ¥ CALLER

CARING

Question Number : 24 Question Id : 51714410069 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two nmumbers are in the ratio 9:11. If 6 1s added to the first and subtracted from the second.
the ratio reverses. Then the first number 1s

B0 Hdowsew 9:11 AN &mr) ow. e T8 6 B0 E. BOBSTR
DOA BS V. A B55) e63¢006. 03¢0 Jnsed dowg

Options :

1. # 18

2. 27

3 % 36



L% 45

Question Number : 25 Question Id : 51714410070 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A loss of 12% 1s incurred by selling an article for Rs. 132. Its cost price (in Rs. ) 1s

2,8 55606900 G132 8 @0:02650 T750° 12% a0 SN0H. AR &G

Options :

v 150

5, % 120

4% 176

Question Number : 26 Question Id : 51714410071 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

No building is wall.

Some walls are rooms.

All buildings are rocks.

lsoSércoen:

o) 23a30da300° F'Ch sPe.

&) feden Hedoen.

BITON) U°F.

Conclusions:

l. No building is room.

I. Some rooms are buildings -

1. Some rocks which are not buildings being walls is possibility.
ST e

l. @ 2a3edel0T () S°¢D |

. §°Q) ficdoen hamren .

1. 25e5mren 520 5 Feren FenTr G603 @S0 &0d.

Options :



|« lifollows

Either | or |l follows
2. %

| and Il follow
3. %

4 [l and either | or |l follow.

Question Number : 27 Question Id : 51714410072 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 95 students, 40 play cricket, 50 play football and 10 play both cricket
and football. How many students play only football?

95 208 DT SSMHEES, 40 DO 1E3E e, 50 HOO HE S
3058 DO 10 OB 8T HBAN HE &S BoAOEIN e3ED. DO
S0 DrTrsten HE erS Sredad escherd?

Options :
1. % 45

2.« 30

3 % 40

4, % 28

Question Number : 28 Question Id : 51714410073 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How 1s my father’s daughter’s mother’s only daughter-in-law related to my wife’s son ?

T ol Burn $9 oB% Sen oo gely E5%E Derod grogiiso 8DA &ob ?

Options :
| Mother



5 % Father

3 % Brother

Sister

Question Number : 29 Question Id : 51714410074 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The distinction between laukika and alaukika i1s made with reference to which one of the
tollowing pramanas *?

6385 S0BASD T8 I8 I5EPs00 &2 1B0A a7¢36T o) (DSPETRE
D020H0D BAVLE0H?

Options :

L% Anumana (Inference)

. Upamana (Comparison)

3 ¥ Pratyaksa (Perception)

S'abda (Verbal testimony)
4. %

Question Number : 30 Question Id : 51714410075 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by the term ‘hetu’ in the process of anumana
(inference) mn classical Indian School of Logic?

$RES 20BN Ay S e 6738 S @Hsrd (DT°E6) (DIBANS e’ &
DR 821800 78S DO SrDN0H?
Options :
Example Provided

. &oeaede wobodadob
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Statement of reason
) @ 5e580 GINE) (B

Proposition to be proved
QBHSoSHOND (D85S

3. %

Conclusion Proved
4 % A0 Aodadiod
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MNote: Answer the questions Q. 31 to Q. 35 on the basis of the information given
below.

HaE: 1508 @69 500G DT80 esrdom™ Q. 31 D0 Q. 35 104) @50
QATTEN (P00,

Six different companies A, B, C, D, E and F manufactures a similar product . the
costs of raw material, labour cost and overheads per unit are given in the following
Multiple bar chart.

A,B.C,D, E DO F 0D e3¢ S04 0000 2,3 DO 5681680
SSOIP D T OW. DAAHTL WD JEN, S5 WA DO CRTPAEIE 2,30 r&en

B0 230 20 RS @6 sFow.

Companies Manufacturing Costs
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Which of the companies has the maximum cost per unit?
) 0300 GRS HBR HE EOR s0d?

Options :
1. % A
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If company B produces 5,000 units and sells them at Rs. 68, then the profit of the
company is __

07200 B, 5,000 ORI 6818 T2 aTrDEd & 8. 68, el @95 )¢%
0200 eSS0

Options :
Rs. 1,65,000

Rs. 1,40.000

Rs. 1,15.000

4 % Rs. 1,55,000
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Which of the following statements is true?
806 1DELNOS A J80?

Options :

The labour costs, of E and F are same.

.« E 300050 F 3308 B8 e 2.3er Goerow.

The ratio of costs, Overheads and [abc:ur is same for A, B and E.
DA e, LT TTEED HOCAH Baade) VN A, B SHOG E®rdy
) % eIPROTT G0ENO0R.

The ratio of total cost of A and that of D is same as the ratio of total cost of E
and thatof F

A OG5 D G3Ey o S TE) V) E OO F Sng) Iwedo

J o OO T8y DN DATSOTT G0N0

Labour cost of E 1s less then labour cost of F

; E 826 s@; F 826 S‘“E S
4.
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Company D can produce a maximum of 1000 units per day and company F can
produce upto 800 units per day. If these companies sell their products at Rs 60 and
Rs 80 respectively, then what percentage of D’s profit is F's profit in the total
maximum production of 10 days?

020 D Bzd) 1000 1000 GRIAL B56b 1€ TaADHED HBO 50 F
F22°50 800 GRFDE) SB35 56518 TODHEED. & E0DEN 1) Sed e
SEIQTT BP. 60 SHOAH G, 808 DFONW, 10 Tere> 105 &S186S", F [y
er250 ¢ D TBwE) P20 O TS0 ?

Options :
L 15: 16

2%3:4
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If after a few changes in the production process, the labour costs of B and C
become equal, then what will be the ratio of the total cost of the companies?

&6538 (DB0HS §Q) SP ) ST 2eh, B OGN C T3E) S0 chjen
DSTHOMT S0, EOE T30 D) DA DOch SOEN0E?

Options :

Lo 1:1

2.%1:2

Can not be determined

. DYowodo ardHio =X
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VIRUS stands for ?
S6H o
Options :
L% Very Important Record User Searched

, w Verified Interchanged Result Under Source

- Very Important Resource Under Search



4 Vital Information Resource Under Siege
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The term Internet means ........
[003)E5 e

Options :

Lo Interconnected Network

, » International Network

_ Interactive Network
3. %

4% Internal Network
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SWAYAM platform was developed by Ministry of Education, IIT Madras and ........
Si{extle SOES @}EJE’)E]&Q 3568 SoegsholBéy oy, 0.5.8 e, Hbdiw.....

Options :

NPTEL
1. v

, % NCERT

3 % UGC
Both A and B
A 0Bcin B Tothid
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What is the full form of USB as used in computer-related activities?
goiirgtabth Homofodid snéét_éaijvwﬁﬁ SI@DPA0DD . aR. D)

2B Tesho
Options :

Universal Security Block
1. %

Universal Serial Bus
2.

United Serial Bus
3. %

None of the above

230 =
4, ®

Question Number : 40 Question Id : 51714410086 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
e 1S @ type of memory circuitry that holds the computer's start-up routine.
Bosgrgtath [ar8ogs BFHLB50 HENED ¥ ¥8, DIwd 85
[3] =y e
Options :

" RAM

- ROM

RIM
3. %

“ Cache Memory
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In which year did the word ‘sustainable development’ come into existence?
LerBes @é]éﬁj%’ ) Dod&Bo aetHEeiDa SINIAKS

Options :

| 1992

, % 1978

1980
3. ¥

4 x 1987
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The tropical region lays between ......°Nto ......... -
ehote (roddm .....0% Dod......... 05 Soesy esotnob
Options :
L 10, 10

5 % 20,20
3 % 30,30

40, 40

4, *
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What is the total percentage of nitrogen gas in the air?
MmO J|EPai araing Swdo o ol ?

Options :



12 per cent

% 12 amédo

21per cent

5 % 21 3o

78 per cent
3 o 18 FoE50

87 per cent

4% 87 avsio

Question Number : 44 Question Id : 51714410090 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following processes explains the working of a geothermal power plant?
&P @ HBdD E(ﬂﬁ@oﬂéﬁ HD% aroéw TSI 060086

Options :

use of potential energy to produce electricity
- DGHE  BEBIH Dogray 48 DAArHO

use of thermal energy to produce electricity

Lo DEFHE SHESH ef¥8 D0

use of kinetic energy to produce electricity
. DERTE SSBID NBeeGE 5 VAT

3.
use of tidal energy to produce electricity
L% DEFHE 6SBIH eoo 8 AT
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Kyoto Protocol (1997) was related to.......
1997 E%es® @FesPersS B8 SomopoNsh

Options :

Protection of Ozone Layer
L% 5,855 s 880t

Reduction in Green House Gas emissions
P a?_aéjé{ﬁbj ﬁgﬁ"ﬁv aedin émgm@?ﬁj éﬁoiﬁ;é&

Conservation of Biodiversity
5 % DRPBSB)S 568K

Limiting the rise in global temperature
, B0 FBDHE® DHHSe H5BHEo Voo
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Which was a famous Cultural and Educational Center of Northern University
in ancient India

@08 gr88 688 HEDumocHs) BE 0B o pBE AlapelellaBa
Options :

Takhyasila
1. %

5 % Bikramshila

\alabi University

MNalanda
4.«
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Educational TV was first infroduced in India in the year......
508058’ I0BBIbre Doy 8.8 @ﬂﬁ:@é Sletat:{fele

Options :
1961

1.
5 % 1959

3 v 1968

4 % 1965
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Which of the following is an example of hon-conventional learning programme in
India?
=0805S° oot g5 SP8gERNRMNE GrPds

Options :

Information Technology
SEP FroBHES

Dentistry

alelz Flaltavy
2. %

Journalism
; | HESHED

Hotel Management
e Yk
4.
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Every system of education is based on?
(& g ét@ﬁ@ éﬁj_a'g_ apetat Gob

Options :

|deology of nation

- 3% erdererdn

Social development
. ﬁoog’pasvéja’aag

2.
Intellectual development
3. &55%%
Skill development
Soesd3
4. ®
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CLASS stands for
CLASS o&5me

Options :

Complete Literacy and Studies in Schools
1. %

Computer Literates and Students in Schools

- Computer Literacy and Studies in Schools

Centre for Literacy and Studies in Schools
4. %
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The divergence of the vector field F = 4xi+3xy’j+xyz’k at the point (2. 2. 1) is
Options :

1 = 80
% 50

3'\_/40

4. % 24
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If x and y are two complex numbers. then which of the following 1s true?

Options :

x +y|=[x|+ |y| and |x - y| = [x] - |y]
1. #

x+yl2 x|+ |yl and [x - y| <[] - Iy
2. %

x +y|l < x| +|y|land [x - y| = [x] - [y|
3.



. x XTYI2[xl+lyland x-y] =] -yl
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The general heat conduction equation which gives the temperature
distribution conduction heat flow 1 an isotropic solid reduce to Laplace
equation when the body 1s in

Options :

unsteady-state with heat generation

) % steady-state with heat generation

unsteady-state with no heat generation
3. %

steady-state with no heat generation
4.
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The order of convergence of the Newton-Raphson method is

Options :
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If ‘n’ 1s the number of trials and ‘“p” 1s the probability of success in a
Binomial distribution. then the mean value 1s given by

Options :

1&.,311
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The value of J... J 1s a Bessel function. 1s
Options :
V(27/X) sin X
1. %

» V(2/mx) sin x

V(2/1X) cos X
3. %

V(2x/m) sin X
4. %
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The central limit theorem states that the sample size

Options :



P mcreases sampling distribution must approach normal distribution
1. -

decreases then the sample distribution must approach normal distribution

increases then the sampling distribution much approach an exponential
distribution

decreases then the sampling distribution much approach an exponential

distribution
4, %

Question Number : 58 Question Id : 51714410104 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following function f(x). of complex variable. is not analytic at
all the points of the complex plane?

Options :

L x f(x)=¢

) % f(x)=smzx
f(x)=cosx
3. %
f(x) =log x
4. &
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The functions in Green's theorem are mathematically

Options :

Continuous derivatives



) % Discrete derivatives

- Continuous partial derivatives

Discrete partial derivatives
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The final corrector of the fourth-order Runge-Kutta method uses

Options :
| % Midpoint rule

Backward Euler method
2. %

Trapezoidal rule

Simpson’s rule
4.9
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The number of intervals in the Simpson’s %™ rule must be

Options :

even

5 % multiples of 3



4 = multiples of 6
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The Lagrange’s mnterpolation method can be used for
Options :
unequal intervals only

1. %

equal intervals only

- both equal and unequal mntervals

none of these
4, %
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The most unstable average 1s
Options :

,E!EO]I]EYIiC mean

mean

3 @ mode

4 % median
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Correct Marks : 2 Wrong Marks : 0

If the force applied to a body 1s doubled and the mass 1s cut in half. then the

accelerations’ ratio?
Options :
I

]

-2
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The mass of a body 1s 2 kg. and 1t 1s moving on a horizontal surface with a
velocity of 4 m/s. but comes to rest after 2 seconds. If one wants the body to
move with the same initial velocity. the force to be applied to it 1is

Options :
8N
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If P. Q. and R be the functions of phase space variables of coordinates and
momenta of a mechanical system. then the value of

{P. {Q.R}} — {{P. Q}. R} is given by
here { . } represents the Poisson’s bracket.
Options :

| o UR.P3Q}
, » QAR P}}

s w (PLRQR
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The hours hand of a clock has how many degrees of freedom?
Options :

1.« 1
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The D’ Alembert Principle and Principle of virtual work
Options :



| = Dboth are same

, w one exists and other one never
one 1s for motion and other 1s for rest

none of these
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The dynamics of a particle governed by the Lagrangian L = ¥ mx? - ¥4 kx

describes

Options :

| v a free particle
, % adamped harmonic oscillator

an undamped harmonic oscillator with a time dependent frequency
3, %

an undamped simple harmonic oscillator
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When an elevator is stationary, a coin dropped from height 'h” reaches the
floor 1n time t; and 1if elevator 1s moving uniformly the same coin 1s dropped
from the same height reaches floor in time to. then which of the following 1s
correct?

Options :



f1>1

1. %

2. & L5 By )
1=t

3.

t1 < tyor t; > t» depending on whether the lift 1s going up or down
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The Poisson bracket {x. a px— v pz+ b 2%} is equal to
where a and b are constants.
Options :

X
1. v

Px
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The relation between phase velocity. #. and group velocity, V. 1s

Options :

du
=u+k

Ve
i dk

1. ¥



u=ve+k
2. #® dk
du
Ve =U-K—
3. % -
du
H=vg-k—
4. % dk
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If the kinetic energy of a particle is equal to 1ts rest energy. then the speed of
it 1s
Options :
0

1. #
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If I, = I, # Is. then the body 1s called top.

Options :

asymmetrical

symimetrical
2.9 7



; % Spherical

4 % none of these
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The rank of moment of inertia 1s
Options :

Zero

1. ®

, % one

3 two

three
F
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To contract the length of a rod to 95% of its original length, the speed of the
rod relative to an observer is
Where c 1s the speed of the light?
Options :
0.1 ¢

1. ®
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The electric field and magnetic fields associated with magnetic vector
potential are

Options :
A
E=VxA andH=-—
1. % o
aA
EZ-i— andH=Vx A
104
E=-——andH=V A
c Ot
3. %
aA
E=V-A andH=—-—
At
4, %
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If the two thin parallel wires carrying currents in opposite direction. then the
force experienced by one due to other 1s

Options :

Zero

Parallel to the lines
Perpendicular to the lines and attractive

. Perpendicular to the lines and repulsive
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If the speed of the electromagnetic wave in the medium is 1.5 x 10 m/s
then the refractive index of a medium 1s (Take the speed of the
electromagnetic wave in free space as 3 x 10° m/s)

Options :
0.2
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If a plane wave in the free space is normally incident on an mnfinitely thick
dielectric slab having dielectric constant 9 then the magnitude of the
reflection coefficient is

Options :

1

1. #
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The following two parameters are same in conductors
Options :

% Skin depth and phase constant

Skin depth and wavelength

- Attenuation constant and skin depth

Phase and attenuation constant
4, &
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The following condition always holds good in a wave guide
Options :

| % group velocity 1s equal to light velocity

phase velocity 1s equal to light velocity
2. %

3 phase velocity 1s greater than light velocity

phase velocity 1s less than light velocity
4. %
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In a collision less plasma. when the radio frequency is equal to the plasma
frequency. the displacement current due to electromagnetic wave 1s

Options :

equal to conduction current

equal and opposite to the conduction current
2. ¥

equal to eddy currents

the product of conduction current and vacuum permittivity
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The wavelength of electromagnetic waves produced by the charged
oscillator, which oscillates about its mean position with a frequency of 300
MHz. 15

Options :

v 1lm

) % 3m

10m

4, % 100m
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One of the Lienard-Wiechert Potentials 1s

Options :



e 1
Vi, =———
L& dmwey r—rv/c

1__,(1‘ U': 1 r—-rwjc
9 % ’ 41T Ey q

V(. )=——1

4MEg 1—rwv/c
3. % § ;

v, t)=——2

Admeg r—v/c
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Match the following

A Stern-Gerlach experiment 1: Wave nature of electrons
B: Davisson-Germer experiment 2: Quantization of energy of electrons
in the atoms
C: Frank-Hertz experiment 3: Existence of electron spin
D: Zeeman effect 4: Space quantization of angular
Momentum
Options :

A-3.B-2,C-4,D-1

« A-3.B-4. C-1,D-2
v A-3.B-1,C-2,D-4

. A-2.B-3.C-4. D-1
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If the perturbation energy is proportional to x* then the first order
perturbation energy for a perturbed harmonic oscillator 1s

Options :
| & ZETO

) % -ho

, — const. nhom

(n+ %) ho
4, %
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If the life time of a state of an atom is 2 x 107 sec then the uncertainty in its
energy
(given /i = 6.63x107>* Joule-sec)

Options :
3x1010 eV

1. ®

, v 1.6x10MeV

9x 107

0x1010eV
4, %
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The commutator [Lx. py] =
Where Ly and py are the angular and linear momentum operators of a
particle?



Options :
—1/1p,

1. *

1py

4 1/hp;
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By coupling three p electrons. the total angular momentum states are

Options :

T
1.¢ =
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The relation between magnetic dipole moment. p. and vector angular
momentum. L. is

Options :
= S
1 5% m
e
pi=s o
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According to first Born approximation. the scattering amplitude

Options :

L depends on the momentum transfer only and not on the initial momentum

depends on the initial momentum and not on the momentum transfer
2. %

does not depend on the initial momentum and momentum transfer

depends on both mnitial momentum and momentum transfer
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In the scattering theory. the optical theorem relates the total scattering cross-
section to the scattering amplitude

Options :
imaginary part of the forward
1.+

» = real part of the forward

5 % Ieal and imaginary parts of forward



real part of the backward
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In the time dependent perturbation theory. the first order transition
amplitude. af(t), is

Options :

L T
af(t) = = f.} Hi(t") e £

. %
2. ¥ () = %f[]r He(t') eiwrit’ ¢’
3. % af(t) = % JEOH (@) e dx’
L afl(t) = fnt HE(t) pilkx—wpit") g7
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The commutator [0,0,, 0,] =

Where a’s are Dirac matrices?

Options :
-20‘_1.
1. ¢ .
- 9 -
2 % <l
20,



20y
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Major predictions of the Dirac theory of the spin ¥: particle 18
Options :
magnetic moment

1. #

, % Spin orbit interaction

, % concept of hole

o’ all of these
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In the Hydrogen spectra. the wavelength (in nanometers) of the spectral line
of Balmer series forn= 3 1s
(Rydberg constant R =1.1 x 10" m™?)

Options :

6835

7 « 485

-2
sl
h

4 % 185
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The emitter coupled multivibrator 1s designed so that its hysteresis is
negligible. The circuit 1s referred as

Options :

L square wave generator
saw tooth wave generator
Tl’iﬂllglllﬂl’ wave generator

rectan glllal' wave generator
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Transistor is a device.

Options :

voltage-controlled

, % resistance confrolled
5 % Input controlled

current controlled
4.9
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One of the properties of an ideal OPAMP is
Options :

Infinite output impedance
Zero input impedance
, % Zero open loop gain

Nomne of these
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In A/D converter, the sampling period T should be the
duration of sample mode and hold mode

Options :
equal to
1. %

, w» smaller than
P larger than

, = Ssmaller than or equals to
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An a.c. signal conditioning system is used for
Options :

J Capacitive transducers
1.9



> % Piezoelectric transducers
; % Resistive transducers

TEllll}El‘El ture transducers
4, ®
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Number of flip-flops in a flag register of 8085 microprocessor
Options :
._1_

1. #
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A microcontroller should at least consist of the following
Options :
RAM. ROM. I/O ports and timers

CPU, RAM., ROM

2.8

, v CPU.RAM. ROM. [/O ports and tiumers



CPU. ROM., I/O ports and timers
4. %

Question Number : 105 Question Id : 51714410151 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

IfA=3.56+0.05and B=3.25 =04, the valueof A+ B

Options :
 6.09<A+B<6.81
1. ®
6.72<A+B=<6.90
2.¢

. % 6.81<A+B<6.90

6.71<A+B=<6.91
4. %
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The best definition of precision is
Options :

1 ® The accuracy of a measurement

- how close a value is to the true value technique is

a measure of the reproducibility of a result
3.¢

a measure of how good an expt.
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The distribution used for testing a hvpothesis is

Options :

Normal Distribution
1. %

Chi-Squared Distribution
. Gamma Distribution

Poisson Distribution
4, %
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A device that transforms one form of energy to another is called
Options :

| = Irtansformer

Transducer
2.9

, % Lransistor

4 % diode
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During Bose-Einstein condensation all the atoms fall back to the



Options :

| Highest Exited state
First exited state
. Ground state

none of these
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The Gibb’s function G =H - TS. in thermodynamics. in an 1sothermal.
1sobaric and reversable process

Options :

1S ZEro

linearly varies
2. %

5 % non-linearly varies

remains constant but not zero
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The incorrect thermodynamic Maxwell relation 1s

Options :

(cT/ev)s = (cp/cs)y
1. ¢



(cTlcp)s= (evies)y

2. %

(Ep/eT),= (8s/év)r

3. %

L% (cv/eT)p=-(cs/ép)t
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The relation between thermodynamic probability and entropy 1s
Options :

thermodynamic probability does not depend on entropy

thermodynamic probability decreases with entropy
2. %

thermodynamic probability increases with entropy

none of the above
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Canonical ensemble 1s related to
Options :
degrees of the freedom of the system

1. ®

) @ number of particles in the system

- thermal equilibrium of the system



size of the system
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The number of photons emutted per second by the 100-watt bulb which emuts
monochromatic light of wavelength 400 nm (given h = 6.623 x 10* J-Sec)

Options :

2. ¢

2 x 101041

4x101051
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Which of the following statement 1s true?
Options :

If AH and AS are positive, then the reaction is spontaneous at low
| % femperature

If AH and AS are both negative then the reaction 1s spontaneous at high
, % temperature

If AH 1s positive and AS 1s negative, then AG will always be positive: the
reaction 1s non-spontaneous and exergonic



If AG=0. then the system is in equilibrium.
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The continuous phase transitions are
Options :

| % Fourth-order phase transitions

Third-order phase transitions
2. %

3 @ Second-order phase transitions

None of these
4, %
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According to Fermi-Dirac statistics. the number of ways 3 particles can be
distributed in 4 energy states are

Options :

3

1. #®
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When the rotational absorption spectrum of a diatomic molecule with
equilibrium lines with spacing 20 cm™ then the position of first Stokes line in
the rotational Raman spectrum of a molecule 1s

Options :
% 100 em!

. 120 cm™
2.

s » 140 cm™

60 cm™
4, &
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The natural line width of a spectral line in the emission spectrum of an
atomic state. with lifetime 10 nanoseconds. 1s of the order of

Options :

107 eV
1.¢¥

10° eV
; & 107V

4 x 1076V
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If the energy of the first excited state of a rigid rotator 1s 1.5 meV. then the
third excited state energy (in meV) 1s
Options :
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Chemucal shifts are due to
Options :

v electrons shielding
1.9

magﬂetic momentum

nuclear 111ag11re:tic monment

scalar coupling (J -coupling)
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The possible transitions in the presence of a weak magnetic field from
2P3p —281p 15

Options :



[
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Which of the following is the correct order of energies involved in the
molecular spectra?

Where E;. E.. E: and E. represent rotational. vibrational. translational and
electronic energies. respectively?

Options :
ET e EI -~ E‘." = Ef_‘
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The gyromagnetic ratio 1s the ratio of of a spinning charged
particle

Options :

A.llglllﬂl‘ moment to 111.?lgnetic moment



potential energy to magnetic moment

3 111agﬂetic moment to angular momenftum

magnetic moment to potential energy
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For the normal Zeeman Effect. the selection mles are
Options :
AM;=0

1. #

) o AM;=0=1

s x AMj==1
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If B1> and By; represent the Einstein stimulated absorption and stimulated
emission coefficients. then the relation between them 1s

Options :
B12<Bn

1. %

_ B12 > Bn
Bi12 =By



no relation
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The coherence length of a sodium yellow light (5893 x 101 m). in 10°1°
pulse duration. 1s

Options :

(% 1x10"m

>« 3x107m

2x10%m
3. %8

L 4x10*m
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A point in reciprocal space represents in real space 1s
Options :

| % a unit cell

a lattice point
2. %

3 @ a plane

4 % none of these
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Match the following

1) Monoclinic p) a=b=c a=p=7#90

11) Tetragonal q aFb#c a=p=y=90

111) Rhombohedral r) azb#c a=p=90#y

1v) Orthorhombic s) a=b#c a=f=y=90
Options :

l—ril—s; —p; 1V —
L I q

, x 1msili-ndli-qiv-p

_ 1—q11—s. WI—p:; IV—1

4 x AT =R W=
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The second Brillouin zone range of k-values

Options :
from 0 to 2m/a
1. 8
i
5 % 0to-2m/a

5 % -2m/ato 2n/a

4o -1t/a to -27/a and +7n/a to +21/a
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The drift velocity of free electrons with mobility of 1.5x102 m?*/Vs in an
electric field strength of 0.5 V/m 1s

Options :

0.75 m/s
1. ®

, % 3.0m/s

3 @ 0.75x 102 m/s

3.0x 10?

4. %
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If the Hall Effect coefficient is 3 cm’/c and carrier mobility is 3 em?® /s then
the conductivity 1s

Options :

1 S/m

1. ®

0.1 S/m
2. %

5 % 0.001S/m

0.0001 S/m
4. &
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For HCP and FCC structures the atomic packing factors are

Options :



v 0.74 and 0.74

0.74 and 0.68

2.
, % 0.68 and 0.52
A 0.96 and 0.74
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The binding energy for a cooper pair 1s

Options :
1eV

1. ®
, x 107 eV

; v 107%eV

4% 10%eV
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If X-ray beam of wavelength of 0.1 nm incident at an angle 30° diffracts in
the first order. then the separations of the sets of planes. in nm. 1s

Options :

. % 0.01

0.05

2. %



0.1
3.¢¥

1.0
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If the number density of a free electron gas. in three dimensions. is increased
by eight times then its Fermi temperature

Options :

increases by a factor of 4
1. ¥

increases by a factor of 8

3 % decreases by a factor of 4

decreases by a factor of 8
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1V ©

0 i < 10V
% 10K
)
Vo
10K

In the circuit shown , the output voltage Vo 1s equal to

Options :

L lov
rw 9V

ov

3. %

Lx 11V
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Assertion: Quasicrystals form when certain molten alloys cool very slowly
Reason: Quasi-crystals have short-range as well as long-range order in their
arrangements

Options :

Both assertion and reason are incorrect.
1. ®



The assertion and the reason are correct.

3 % The assertion 1s not correct but the explanation of reason 1s correct.

the assertion as well as the reason are correct. but the reason is not the
4 correct explanation of the assertion.
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The Majorona force is the force.

Options :

Space exchange
1.+

spin exchange
; % space-spin exchange

spin-spin exchange
4. %
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The diameters of the atom and nucleus are of the order of
Options :

109 mand 10 m
1. v

108 m and 102 m
2.



; % 10mand 107 m

L 10°mand 10 m
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The half-life of a radioactive material 1s 24 days. If 8 g of this 1sotope 1s
present initially. then the amount remains after 72 days is

Options :

1
1. ¢

=

-2
i L]
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Nucle1 having the same number of neutrons and different mass number are called
Options :
1sobars

) % 150IMETS

1sotones
3.9

1sotopes
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A free neutron decays in to a proton. the decay products are an electron and
Options :

an antineutrino
1. %

a neutrino

a positron

pion
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Nuclear forces have strengths in the order
where P stands for proton and N stands for neutron.

Options :

P—-PEN-~N>P=N
1. =

P-P<N-N<P-N
2. %

P-N>N-=N>P-P
3. %

P P= N oo =i
4.+
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The Yukawa potential is proportional to
Options :

—ar

1. ¥ r

ar

4 % 7 E?—O'J'
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The surface term in semi empirical formula is proportional to
where A is the mass number of the nuclet

Options :
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If m. my. and my, are the masses of nucleus. neutron. and proton.
respectively. of ;X* nucleus then which of the following is correct?

Options :

- m=Zm,+ (A-Z) my

) m=Zmy+ (A-Z) my

, m= (A-Z) mg +Z my
3.

m < (A-Z) my + Z my
4.9
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Strangeness 1s conserved 1n
Options :

| » Strong mteractions but not in weak interactions

Weak interactions but not in strong interactions

2. %
Both strong and weak interactions
3.3
None of the above is correct
4. %
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Nuclear Fission model can be explained using
Options :



Independent particle model

» % Shell model

liquid drop model
3.9

, » Somerfield model
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A neutron 1s composed of
Options :

one up quark and two down quarks

an up quark and down antiquark

;% twoup quarks and a down quark

strange quark and an anti-strange quark



